Support Units Sz 33 /8

MSUZR %

|
T
_ |
s O
|
b \ |
P
B1
(L2) L3
‘,:g\
— N
_ R S BN o | L _
T ‘ ] ] iy \
_ T PR
° - ! | |
T ‘ ! : l
! | | ~
; 1 @ @ 1 1
1f 1f @
B L1 L
AR E -
RS g L L1 L2 L3 La Ls B H o B1 H1
—0.005 —0.03
MSU-3C 3 12.5 5.5 16.5 1.5 2 8.5 24 14.5 9 11 5
MSU-4C 4 14 5.5 17.5 2 2.5 9 27 17 10 14 6
MSU-5C 5 15 5.5 18.5 2 2 11 30.5 19.5 11 17 6
MSU-6C 6 17 7.5 22 2.5 2.5 12 35 22.5 13 19 8
MSU-8C 8 20 9 26 3 3 14 41 29 17 24 12

1) MARKREAISCERAT MMM E - WIAARBZEESMIEINSK LG2) - BEEEAARAIENR o
F12) BRERRNE - IR  SHEMBMRISITARERIE o
F13) PSSR TRERREE - FEDIFAE o

A-226



FLAL(E D

@ EU5RAVHE AL

@ RIIFFHE

MSU : KSS#IARI ST 33K
@ ATERISE
® FakrsE

C: B
G : JAmE!
@ RS
TR - EER
S - ZHHA
) RIS EAATE SR AT RE B ER N T — B BEEEE -
TR
TR TR e
1 shak (BERRRIR) 1
2 gk (FIBHES ) 148
3 [ ERIANE 1
4 ahIR 1
5 SHERMZNE 1
6 AWREFLIETIRE (HEAIEE) 148
Unit (EfiZ) : mm
SHERIZNE
R P d1 M T SHERIZE  |SERHRN%E % & il
N-cm g
5.5 18 3.5 M3 8 M3 X 0.5 80 MTA03-08HP5DF 16.5 MSU-3C
7 21 3.5 M3 10 M4 X 0.5 100 MTA04-11HP5DF 27 MSU-4C
8.5 23 4.5 M3 11 M5X 0.5 140 MTA05-13HP5DF 35 MSU-5C
9.5 26 5.5 M3 12 M6 X 0.75 190 MTA06-15HP5DF 50 MSU-6C
12 32 5.5 M3 14 M8 X 1.0 200 MTA08-19HP5DF 96 MSU-8C

A-227



